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SYMPTON :

FI1X:

loadway nolls vertically.

You can sce this on dedicated games & hits. AL finsix,

Lt Looks Like a typical verlical sync problem, but
actually Lt L5 caused by a bad SP CLK pulse which fhrows
o044 the TNT3 (MID SCREEN INTERRUPT) and the roadway siants
Lo noll nteamittently at the half-way point.

**REFER TO SHLET 14 OF SP-298, SCHEMATIC PACKAGE**

Usually verny simple and a matten of replacing the
socketed speech chip oh a thansiston on LST cartrddge
peb.  The key zo diagnosis cf this problem is to checkh

=5 volt negulatons (02 on 23), 79L05/7905, A output Ais
Less than -5 change 4it. I§ -5 4s ok, then use a scope
and Look at SP CLK at Pin 6 of Toll (THS5220), this signal
nas to be § volts P-P and any Less than that won't wonrk.
If s0, thy neplacing 16H ox a6.
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